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January 25, 2017
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V=2 +2yzy + Y2
a. Find the divergence of v.

b. Find the curl of v.
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2. A=3T +2Y
B=3%

Find the angle between A and B. 2
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3. The height of a certain hill (in meters) is given by

h(zx, y) — 4zy — 322 — 2y — 18z +12y +28
where y is the distance (|n miles) north, x is the dlstance east of North Hadley.
a. Where is the top of the hill located? ’:? Wiiley Aud Lreate ’( nh )\{C’”
b. How highis the hill? S <~ ‘M@T@TF‘%
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c. How steep is the hill (in feet per mile) at a /7
point 2 miles north and one mile east of South Hadley? /
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In what direction is the slope steepest at that location? Q /pr[/ ‘rUUui\~ A UJ‘ZMJ“
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